PHONES & EAR BUDS away Please!

Tues, Dec 19, 2017/

P|ck up: half sheets

Today you will:

* Check key for Co-dominance/Pedigree Practice
Problems

* Notes & Practice Sex-linked Trait Punnett Squares

Homework/Planner:
Packet pg 10 & 11 & half sheet

Study what we’ve covered so far, DIA Tomorrow!!!




__10. It was suspected that two newborn babies had been exchanged in a hospital. Mr. and Ms. Jones received
baby #1 and Mr. and Ms. Simms received baby #2. Blood typing on the parents and the babies are shown in

the following table.
Blood Typing Results for Jonesand Simms Blood Type Reference Table
Mr. Jones: Type A (1) Mr. Simms:  Type AB [I*) Type A 1* or I4
Ms. Jones: Type B (I*) Ms. Simms: Type O (ii) Type B B2 or I
TypeAB | I7P
Baby #1: Type A Baby #2: Type O Type O i

Based on these blood typing results, were baby #1 and baby#2 switched at birth?

A. Yes; It isimpossible for Mr. and Ms. Jones to have a baby with a Type A blood type.
B. Yes;It isimpossible for Mr. and Ms. Simms to have a baby with a Type 0 blood type.
C. No;Itisimpossible for Mr. and Ms. Jones to have a baby with a Type 0 blood type.

D. Noj It is impossible for Mr. and Ms. Simms to have a baby with a Type A blood type.
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is a “Carrier’? Why are they “normal”?
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Karyotyping

» Cell biologists photograph cells in
mitosis, when the chromosomes
are fully condensed and easy to
see.

 The chromosomes are then
placed in pairs in order of
descending size. The sex
chromosomes are placed at the
end.
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Karyotype
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What is a Pedigree

* A pedigree is a chart of the
genetic history of family over
several generations.

» Scientists or a genetic counselor
would find out about your family
history and make this chart to
analyze.
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PEDIGREE;

it.is unethical to use humans as test subjects, and it would take too
to get results anyway, one of the best ways to study human
patterns of inheritance is to go back in time
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. Which symbol represents Males? Females? Squares Circles
. Which are the oldest? Youngest? Left Right

. How many generations?I!

. What does the shaded symbol mean? ©Genetically Affected

. How many children did lI-7 & 8 have? Four

. How many children did I-1 & 2 have? Five

. If llI-1 produced a child, what is the chance she will
produce a child who is affected? 50% if husband hetero — 0% if

ha ie hamaswvaniie

NOOAARLOWN=-



LV ANSOLNLE OYaanLsSms

a)combinant DNA technology:
w/ two different genes —

aism called
d organisms
ngineered,"” or



Herbicide Resistant
Crops

gene Ready

Soybeans: Roundup Ready

\
« Corn: Roundup Ready, Liberty Link |
» Cotton: BXN, Roundup Ready °
+ Canola: Liberty Link, Roundup Ready |
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Environmental Benefits

* Reduced pesticide use
- Lower energy requirements
» Cleaner water

- Less soil erosion
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